2" 10 BALL 5" STEM STEEL
ROLLER W/ 7/16" REATINER
FOR NON-THREADED SHAFTS

12 GA. GALV. COMMERCIAL
TOP ROLLER BRACKET

ATTACHED W/(4) 1/4" x 3/4"
HEX HEAD SCREWS PER
BRACKET

TYPICAL TOP FIXTURES

ADJUSTABLE ROLLER CARRIER
ATTACHED W/ (2) 1/4" x 1/2" BOLT
& NUT PER BRACKET

3" 20GA. STRUTS ATTACHED

HEX HEAD SCREWS AT
EACH CENTER STILE

NT.S

SEE (TABLE 1) ON SHEET 2 FOR
DOOR AND SECTION HIEGHT

MAX. SEC.
HEIGHT

W/ (2) 1/4" x 3/4"

19 GA CENTER STILES

MODEL 2400 OR 2000 SECTION

TYPICAL CENTER HING@

14GA. CENTER
HINGE ATTACHED
W/ (4) 1/4" x 3/4"
HEX HEAD SCREWS

==

N.T.S.

SEE (TABLE 3) ON SHEET 2
FOR STILE PLACEMENTS

3" 20GA. STRUTS
ATTACHED W/ (2)
1/4" x 3/4" HEX

HEAD SCREWS
AT EACH END
STILE

N.T.S.

TYPICAL END HINGE@

16'-2*
INSIDE ELEVATION

N.T.S.

GLAZING NOT AVAILABLE IN WIND-BORNE DEBRIS REGION

DOOR TESTED WITH GLAZING

14GA. ROLLER HINGES ATTACHED
TO END STILE W/ (4) 1/4" x 3/4"
HEX HEAD SCREWS

3" 20GA. STRUT
ATTACHED W/

(1) 1/4" X 3/4"

HEX HEAD SCREW AND
ONE STRUT CLIP AT

Do

END STILE —

.

2" 10 BALL 5" STEM
STEEL ROLLER W/7/16"
RETAINER FOR NON
THREADED SHAFTS

13 GA. BOTTOM BRACKET
ATTACHED W/ (3) 1/4"
X3/4" HEX HEAD SCREWS

CONT. ALUM. EXTRUSION WITH _'b
CONT. VINYL ASTRAGAL o

N.T.S.

FOLLOWING PARAMETERS

THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE WITH THE
PROCEDURES DESCRIBED IN ASTM E330, AND DASMA 108. THE PRESSURES
SHOWN ON THE DRAWINGS WERE CALCULATED USING ASCE 7-16 WITH THE

(5 FEET OF DOOR WIDTH IN END ZONE, ROOF SLOPE 10" OR LESS):

WIND SPEED (MPH) 141 128 122 17 12
EXPOSURE LEVEL B C C D D
MEAN ROOF HEIGHT 30’ 15’ 25’ 15’ 25’

TYPICAL BOTTOM BRACKE@

INTERIOR OF GARAGE

MAX. WIDTH 16°0"

TOP SECTION TO BE /
MODEL 2400 (24GA.) OR
MODEL 2000 20GA.).
)
I
]
!
®
«Q)

19 GA END SITLES

BOTTOM SECTION TO BE
MODEL 2400 (24GA.) OR
1 MODEL 2000 (20GA.).

MODEL 2400 OR 2000
SECTIONS
-
3" x 20 GA. STRUTS
\ (2) PER SECTION
ALUMINUM
2) SLIDE LOCKS INTERMEDIATE RAILS
REQUIRED AT MODEL 3550
SECTIONS
ALUMINUM END STILE
MODEL 3550 SECTIONS
A
FULL VIEW ¥
SECTION WITH 1/8" Y
ANNEALED DSB <
GLASS —
-

SECTION A—A (SIDE VIEW)

N.T.S.

DOOR HEIGHT

VERTICAL LIFT
.u—E. rr=13

SPECIFICATIONS AND NOTES

STANDARD LIFT

HIGH LIFT
.B—E. rr=n

AVAILABLE TRACK CONFIGURATIONS

LOW HEADROOM

PLICE TRACKS W/ (4)-20
TRACK SPLICE BOLTS &
NUTS

2" (.051 MIN.) OR 3" (12 GA.
MIN.) VERTICAL TRACK

TRACK ATTACHMENT CAN BE
BRACKET MOUNT, CONTINUOUS
OR REVERSE ANGLE MOUNT. ALL
TRACK BRACKETS AND TRACK
CLIPS ARE ATTACHED TO TRACK
WITH (2) RIVETS OR (1) 1/4"-20

1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL TRACK,

N.T.S.

FROM THE TRACK THE LOAD IS TRANSFERRED TO THE VERTICAL JAMBS.
THE HORIZONTAL JAMB OR HEADER RECEIVES NO PORTION OF THE LOAD

TRANSFERRED FROM THE DOOR.

2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF:

+134.9 LBS/FT &

-152.8 LBS/FT

3. DOORS AND HARDWARE WILL BE DESIGNED, MANUFACTURED
AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.

4. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED

pEsioN Loaps [ | [ [ [ 1 T 1T ( 1]

+134.9 LBS/FT
—152.8 LBS/FT  SEE NOTE 2

BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS

INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS.
5. REFER TO (TABLE 2) ON SHEET 2 FOR ADDITIONAL DOOR WIDTHS

AND THEIR DESIGN PRESSURES

6. GLAZING MEETS ASTM E1300-04
7. DOOR IS MANUFACTURED AND TESTED IN ACCORDANCE WITH THE

2018 IRC/IBC

BOLT & NUT
SEE (TABLE 4) ON PAGE 2 FOR
ATTACHMENT LOCATIONS
REV | DESCRIPTION OF REVISIONS DATE BY
R Sy
MA,‘X SIZE , AEOFTe '\ This document has been
162 x 24 PRANSE h2) V,  digitally signed & sealed by
- o Thomas L. Shelmerdine, PE
DESIGN LOADS|| 7+ .j@.gnawb on the date shown.
+16.7 PSF ﬁee D"g"'""""'-r-- Fronnly Printed copies of this
—18.9 PSF || #.THOMAS L. SHELMERDINE document are not
’ [ N considered signed &
4o~ 85829 o2 r
'l"po;:-. P ‘{g,; seale;i,band t_f}ge algnature
ST o\t must be verified on any
TEST LOADS \\\‘S'SIONA\_E\:E’._- electronic copies.
(1.5 x DESIGN LOADS) s
+25.05 PSF Digitall d by Thomas L Shelmerd
igitally signe omas elmerdine
—28.35 psF|| Thomas L gpeyerssomenes
dnQualifier=A01410D0000017E7DCF965F
M 0002DE45, cn=Thomas L Shelmerdine
S h eI m e rd N © Date: 20220421 102025 -0400
Thomas L. Shelmerdine, PE (TX PE #85829)
Structural Solutions, PA (TX Firm #F—004063; TX
5921-G W. Friendly Ave., Greensboro, NC 27410

ary

MODEL 2000 AMARR 2002, 2012, 2022
MODEL 2400 AMARR 2402, 2412, 2422
MODEL 3550HD AMARR 3552

SIZE| ORAWNBY  BHG| DATE 9/30/10
B | CHECKED BY DWC| DATE 9/30/10

DRAWING NUMBER

IBC-2456-110-15

AMARR COMPANY
165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105

SHEET 1 OF 3




TRACK CONNECTION DIRECTLY TO STRUCTURE OPTIONS

ITW BUILDEX 1/4’-14 12 GA. OR 3/16° 1/8" NOM X 1’ LONG 1/4* LONG TACK 2000 PSI MIN. SIMPSON STRONG-TIE 2000 PSI MIN. SIMPSON STRONG-TIE
X 3/4° SELF-TAPPING STEEL (SEE BELOW)  FILLET WELD (E60xx WELD SAME SPACING ~ CONCRETE /89 WEDGE ALL CONCRETE 3/8°@ SLEEVEALL
SCREWS (TEKS) ELECTRODES MINS T g EXPANSION ANCHOR WITH EXPANSION ANCHOR WITH
oLy ey — ——"7/8"9 WASHER. 1-3/4'MIN. - —7/8'8 WASHER. 1-3/4°MIN,
ki —+] EMBEDMENT <] EMBEDMENT
1/ —_— _; -
- 2-5/8" THICK — 2-5/8" THICK lrﬂ
WALL _MIN. i WALL MIN. e —
5 x EMBEDMENT) gﬂj (15 x EMBEDMENT> | ™ —
CLIP STYLE REVERSE ANGLE MOUNT SHOWN . .
BRACKET, CONTINUOUS AND TAPERED ANGLE ~ REVERSE ANGLE MOUNT SHOWN 3 rancE o S orance CE
MOUNT AVAILABLE BRACKET, CONTINUOUS AND
12 G STEEL FRAMING TAPERED ANGLE MOUNT AVAILABLE CLIP STYLE CONTINUOUS ANGLE MOUNT SHOWN CONTINUOUS ANGLE MOUNT SHOWN
Bl ns Faee A S AT £ LOAD — 6 STEEL FRAMING 12GA OR BETTER BRACKET, REVERSE AND TAPERED ANGLE MOUNT BRACKET, CONTINUOUS AND TAPERED ANGLE
AVAILABLE
FROM ENDS AND 18 OC. 1590 LBS./IN. ALLOWABLE LOAD - MOUNT AVAILABLE
: 6° FROM ENDS AND 24° O.C.
REFER TO NOTES' 1, & AND REFER TO NOTES! 1, 2, 5, 6, 7, 8 £000_PSI_CONCRETE_OR_GREATER } 2000 PSI CONCRETE OR GREATER
351 LBS./EXPANSION ANCHOR ALLOWABLE LOAD S 36 LBS /EXPANSION ANCHER ALLOWABLE

37167 STEEL _FRAMING AND 9 6’ FROM ENDS AND 24 O.C. LOAD - 6’ FROM ENDS AND 24 OC
569 LBS./SCREW ALLOWABLE LOAD - 6 REFER TO NOTES:' 1, 2, 3, 4 AND 5 REFER TO NOTES' 1, 2, 3, 4 AND '5'

FROM ENDS AND 24* O.C.
REFER TO NOTES: 1, 2 AND S

WOOD
STRUCTURE

WOUD JAMB ATTACHMENT TO STRUCTURE (OPTIONAL)

CONCRETE
STRUCTURE

EMBEDMENT

, 2 X 6 VERTICAL JAMB ATTACHMENT TO WOOD FRAME STRUCTURE
45-7/8 5/16" X 3" LAG SCREWS STARTING 6" FROM ENDS THEN 24" O.C. (1 1/2" EMBEDMENT)

=

=

MAX

Y 2 X 6 VERTICAL JAMB ATTACHMENT TO HOLLOW C-90 BLOCK HOLLOW , P
20-13/16 SIMPSON 1/4" X 3" TITEN SCREWS STARTING 6" FROM ENDS, USE PAIRS OF FASTENERS BLOCK
MAX (3" APART) AT 24" O.C. (1 1/2" EMBEDMENT) STRUCTURE
HILTI 1/4" X 2-3/4" KWIK-CON II+ SCREWS STARTING 6" FROM ENDS, USE PAIRS OF FASTENERS

2X 6 VERTICAL JAMB ATTACHMENT TO 2,000 PSI CONCRETE
HILTI KWIK BOLT 3/8" X 4" STARTING 6" FROM ENDS THEN 24" O.C. (2 1/2" EMBEDMENT)

HILTI SLEEVE ANCHOR 3/8" X 2-3/4" STARTING 6" FROM ENDS THEN 24" O.C. (1 1/4" EMBEDMENT) 172" MIN 2-
ITW/RAMSET REDHEAD (TRU-BOLT) 3/8" X 4" STARTING 6" FROM ENDS THEN 24" O.C. (2 1/2" EMBEDMENT) 2X6 JAMB

3/4* MIN

GROUTED \

(3" APART) AT 24" O.C. (1 1/4" EMBEDMENT)

BLOCK
STRUCTURE

2X 6 VERTICAL JAMB ATTACHMENT TO GROUTED C-90 BLOCK (2000 PSI GROUT)

i

HILTI SLEEVE ANCHOR 3/8" X 2-3/4" STARTING 6" FROM ENDS THEN 24" O.C. (1 1/4" EMBEDMENT)

I

(OR, USE FASTENERS FOR HOLLOW C-90 BLOCK) REV | DESCRIPTION OF REVISIONS DATE BY
SNAP IN ALUMINUM / GLAZING FASTENER DETAIL *LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE. 1-1/72" MIN_ | 4
GLAZING BEAD N.T.S. *PREPARATION OF WOOD JAMBS BY OTHERS S—
-'".ﬁ‘o\;}\\\\ This document has been
FRE e, detalysireds seoledy
- by . Ine,
TRACK CONNECTION TO WOOD JAMB OPTIONS s 9%, | Fma it "
NOTES: X 4 THOMAS L. SHELMEHDINE; document are not
DESIGN LOADS|| # .= '85829 "7 considered signed &
1, ANCHORS TO BE EVENLY SPACED BETWEEN THE HEADER AND FOR LAG SCREWS & BRACKET SPACING SEE TABLE 4 "%, 89829 Sa 2 cealed, and the dgnature
+16.7 PSF N Qo ICENSED 77
FLOOR, _ RSt o must be verified on any
18.9 PSF \\\SIONA\_E‘:_._- electronic copies.
2. FIRST <(BOTTOM> ANCHOR STARTING AT NO MORE THAN HALF OF e

THE MAXIMUM ON-CENTER DISTANCE. HIGHEST ANCHOR EST LOADS
INSTALLED AT LEAST AS HIGH AS THE DOOR OPENING. I e OnDS
. MIN. EGDE DISTANCE OF 3’ REQUIRED. ) W ) +25.05 PSF
. USE WASHERS PROVIDED BY THE ANCHOR MANUFACTURER M}/////Z% Eana | I e v w29
. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED BY A T T Structaral Solutions, PA (TX rmaro0ioes) Y
REGISTERED PROFESSIONAL ENGINEER FOR WIND LOADS IN 5921-G W. Friendly Ave,, Greensboro, NC 27410
ADDITION TO OTHER LOADS.
. MOST GARAGE DOOR TRACK IS GALVANIZED STEEL. USE ALL
NECESSARY PRECAUTIONS WHEN WELDING GALVANIZED STEEL. arr
. ALL WELDS SHOULD BE PERFORMED BY A CERTIFIED WELDER
OR INSPECTED BY A CERTIFIED WELDING INSPECTOR TO
VERIFY THE INTEGRITY OF THE WELD. BRACKET MOUNT CONTINUQUS ANGLE MOUNT REVERSE ANGLE MOUNT ﬁggg% 3288 AMAR% gggg, ggig, gggg
. FILLET WELDS TO HAVE A STRAIGHT OR CONVEX FACE 5/16* x 1 5/8° LAG SCREW (1) 2x6 WOOD JAMB SYP MODEL 3550HD AMARR 3552
SURFACE. PER JAMB BRACKET (1-1/2° (NO.2> OR BETTER (TYP. SZE| ORAWBY  BHG| DATE 9/30/10 DRAWNG NUMBER
. TACK WELD TOE OF ANGLE AT SAME SPACING TO PREVENT EMBEDMENT MINIMUM) CTYP.) IBC=2456-110-15
ROTATION OF TRACK ANGLE. B[ cieckeo By owc| oaTe 930710
165 CARRIAGEAgSLTI?TCS?I‘TSA'INETN—SALEM, N.C. 27105 SHEET 2 OF 3




TABLE 1 *TABLE 2
Door 271" 21" 24" 24" Max Design Loads
Height| Bottom | Intermediate | Bottom | Intermediate SV?/c_:tlc;]n Allowed
7'0" 1 3 (f)t Positve | Negative
;:g:: g 1 : (PSF) | (PSF)
g:g:: 1 1 421 94 | 212 24.0
873" Not Avallable 06 | 209 | 237
8'6" Not Available 98 20.7 23.4
8'9" 1 4 910 | 204 23.1
90" - ] 10'0 20.1 22.8
S 5 1 : 102 | 199 | 225
979" 7 7 3 10' 4 19.7 22.2
10'0" 1 4 10'6 19.4 22.0
110" 4 7 7 11'0 18.7 21.2
113" 3 1 2 11'2 18.5 21.0
ﬂ,g,, % 1 2 11 4 18.3 20.7
207 3 = 116 18.1 20.5
123" 1 6 12'0 22.4 25.3
126" 6 ] 1272 [ 221 25.0
e 2 1 ; 124 | 218 247
133" 3 3 3 12'6 21.5 243
13'6" 2 7 4 12'8 21.2 24.0
139+ 1 i S 12710 | 20.9 23.7
B - 7 6 130 | 192 | 217
14'3" 7 1 13' 2 19.2 21.7
14'6" 6 1 1 13" 4 19.2 21.7
149" 2 ] 2 136 19.2 21.7
15 + 7 2 138 | 192 | 217
15'6" 2 7 5 13'10 | 19.2 21.7
15'9" 1 1 6 14'0 19.2 21.7
e 1 8 1 , 42 | 19.0 215
160" 5 3 14" 4 18.7 21.2
16'3" 7 7 1 14" 6 18.5 21.0
166" 6 1 2 14'8 18.3 20.7
16 2 1 3 1410 | 181 | 205
17737 > ] 5 15'0 17.9 20.3
17'6" 2 1 6 15' 2 17.5 19.8
179" 1 ] 7 16' 0 16.8 19.0
— - ] 2 162 | 167 | 189
18'6" 6 1 3 *CONTACT AMARR'S ENGINEERING
18'0" 5 1 4 DEPARTMENT FOR THE FOLLOWING
19'0" 4 1 5 DOOR WIDTHS; 11'8", 11'10",
103" 3 1 6 15'4",15'6",15'8" AND 15'10"
19'6" 2 1 7
19'9" 1 1 8
20'0" 1 9

TABLE 3 TABLE 4
Secti Center Stile Locations DOOR TRACK ATTACHMENT *SPLICE
ection
(Measured from Left Edge) HEIGHT/ Al B | C|DJEJF] G| H J S
6'6" |[10"[ 38" [ 58" 70"
Width 1St 2St 3rd 7! 10" 38" 58" 76"
ft in in in 7! 6" 4" 28“ 52" 76" 82"
( ) ( ) ( ) ( ) 8! 10" 34“ 58" 82" 88"
9' 4 36" 76" 8! 6" 4" 28“ 52" 76" 94"
9'6 37" 77" 9 10"[ 34" | 58" | 82" 100"
0 o 0 9! 6" 4" 28" 52" 76" 100" 106"
9, 8 38" 78" 10' [10"] 34" [ 58" | 82" [106" 112"
9'10| 39 79 106" | 4" | 28" | 52" | 76" [100" 118"
10' 0 40" 80" 11" [10"] 34" | 58" | 82" [106" 124"
10' 2 41" 81" 11'6" | 4" [ 28" 52" | 76" [100"[124" 130"
- o o 12" |10"]| 34" [ 58" | 82" |106"[ 130" 136"
10, a 42,, 82,, 12'6" | 4" | 28" | 52" [ 76" [100"] 124" 142"
10' 6 43 83 13" |10"| 34" [ 58" | 82" |106"[ 130" 148"
10' 8 44" 84" 13'6" | 4" [ 28" | 52" | 76" [100"[124"[ 148" 154"
10' 10 45" 85" 14" [10"] 34" | 58" | 82" [106"[130"[ 154" 160"
11' 0 46" 86" 14'6" | 4" [ 28" | 52" [ 76" [100"[124"[ 148" 166"
: - - 15" |10"] 34" | 58" | 82" [106"|130"[ 154" 172"
11' 2 47" 87" 15'6" | 4" [ 28" | 52" | 76" [100"[124"[148"] 172" 178"
11" 4 48 88 16' | 10"| 34" | 58" | 82" [106"| 130" 154"| 178" 184"
11' 6 49" 89" 16'6" | 4" [ 28" | 52" | 76" [100"[124"[148"] 172" 190"
12' 0* 36" 72" 108" 17" [10"] 34" | 58" | 82" [106"[130"[154"] 178" 196"
T * m " " 17! 6“ 4" 28" 52“ 76“ 100" 124" 148" 172“ 196" 202"
12, 2* 37" 73" 109" 18' [10"] 34" | 58" | 82" [106"[130"[154"| 178" [202" 208"
12" 4 38 74 110 18'6" | 4" [ 28" | 52" | 76" [100"[124"[148"] 172" 196" 214"
12' 6* 39" 75" 111" 19' [10"] 34" | 58" | 82" [106"[ 130" 154"] 178" [202" 220"
12' 8* 40" 76" 112" 19'6" | 4" [ 28" | 52" | 76" [100"[124"[148"] 172" [196"|220"] 226"
12' 10 41" 770 113" 20" [10"[ 34" | 58" | 82" [106"[130"[154"] 178" |202"|226"| 232"
A o o o *SPLICE LOCATION FOR STANDARD LIFT. WILL VARY FOR OTHER LIFT
13' 0 36 78 120 APPLICATIONS
13' 2 37" 79" 121"
13' 4 38" 80" 122" REV | DESCRIPTION OF REVISIONS DAE  |BY
13' 6 39" 81" 123"
13' 8 40" 82" 124" —~—
13' 10 [ 41" 83" 125" ZSESEIELMN,  diitaly signed & sealed by
14' 0 42" 84" 126" MAX SIZE > P gk THomseL Shemerdine ot
14| 2 43" 85" 127" 16’2 x 24’ oy Fim i Prdinted copties oftrjs
' . . . DESIGN LorDs{ | 4755555 i Y clorzgilcjir:ger:jh;;é]g &
144 | 44 | 86 | 128 HeTPs || Wl RN
14| 6 45" 87" 129!! . \\\{S‘(QN\A\\;E-\:___- electronic copies.
14' 8 46" 88" 130" TEST LOADS
1 [1] [1] " (1.5 x DESIGN LOADS)
14' 10 47 89 131 +25.05 PSF
15' 0 48" 90" 132" —28.35 PSF
15" 2 49" 91" 133" SfseialSouons PA (1 Frm st oodoss) Ty
16' 0 48" 96" 144" 5921-G W. Friendly Ave., Greensboro, NC 27410
16' 2 49" 97" 145"

*SPECIAL STILE PLACEMENT REQUIRED
FOR THE FOLLOWING DOOR WIDTHS:

12'0",12'2",12'4",12'6" AND 12'8"

Awmary

MODEL 2000 AMARR 2002, 2012, 2022
MODEL 2400 AMARR 2402, 2412, 2422
MODEL 3550HD AMARR 3552

SIZE| DRAWN BY  BHG

DATE  9/30/10

DRAWING NUMBER

B | cuecken By Dwe

DATE  9/30/10

IBC-2456-110-15

AMARR COM

165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105

PANY

SHEET 3 OF 3




	p1
	p2
	p3

		2022-04-21T10:20:25-0400
	Thomas L Shelmerdine




